
H Math 2     Notes: Angles 

Name the vertex and sides of each angle. 

Ex 1)        Ex 2)   

 

 

 

 

Name each angle in four ways. 

Ex 3)        Ex 4)   

 

 

 

 

Draw and label an angle to fit each description. 

Ex 5) an obtuse angle, ∠ܻ      Ex 6)  an acute angle,  ∠ܪܫܬ  

 

 

 

 

Ex 7) an right angle, ∠3      Ex 8)  a straight angle, ∠𝐶𝐷𝐸   

  

 

 

 

Name all the angles that have ࢂ as a vertex. 

Ex 9)          Ex 10) 
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Pairs of Angles 

Types Definition Example 
Linear Pair   

Supplementary Angles   

Complimentary Angles   

Adjacent Angles   

Vertical Angles   

 

Ex 11)  One angle of a pair of complementary               Ex 12)  One angle of a pair of supplementary  
             is given.  What the measurement is of                                 is given.  What is the measurement of 
       its compliment?          Its supplement?   

             87°  ________     23°  ________       173°  ________     92°  ________ 

              

Ex 13)  Use the diagram to find the following angle pairs. 

a) Linear Pairs      
 
 
b) Vertical Angles 

 

Ex 14)  Solve for ࢞.                   Ex 15)   Given ∠1 ൌ 90°  , ∠2 ൌ 34° , ∠7 ൌ 127° 

              Find ∠3 ൌ _______ , ∠4 ൌ _______ , and ∠8 ൌ _______ 
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